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void f1()
{
int al[10], i, m, t, *p;
cout<<“please input the 10 data seperated by space or return”<<endl;
for (p=a;p<a+10;p++)
cin>>¥p;
cout<<"How many bits do you want to shift?”<<endl;
cin>>m;
for (i=0;i<m;i++)
{
p=a+10-1;
t=%p;
for (p=a+10-1;p>a;p—)
*p= (p—1) ;
*p=t;
}
for (p=a;p<a+10;p++)
cout<<*p<<”
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void intsert (char *p)
{
for (int i = strlen(p);i > 0;i—)
{
*(p + 2% i) = *x(p + i);
*(p + 2% i-1) =" "

}
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WMEMANERE, ERBEVARIEADAZ p1=11(a,5,5) ;p2 =12 (xa, 25).

intx f1(int (¥q) [5], int n);

intx f1(int *p, int n);

int main()

{ int a[8][5], i, j, *p1,*p2;
cout << “Input 5%5 Array:\n”;
for (i=0; i<5; i++)

for (j=0; j<5; j++)



cin >> *(k(ati)+]));

p1=F1(a, 4,5) ;p2 =f2(*a, 25).
cout << *pl << “ 7 <K %p2 <K endl;

reutrn 0O;

}

intx f1(int *p, int n)
{
int i, j, *max=p;
for (i=0; i<n; i++)
if (kmax<k+tp)
max=p;
return max;

// pick up the maximum

}

intx f2(int (*p) [5], int n, int m)
{

int i, j, *max=p;
for (i=0; i<n; i++)
for (j=0; j<m; j++)
if (kmax< *(k(pt+i)+j))
max=* (p+i)+]j;

return max;



